
•	 TT Accessory Bar

•	 Dacromet Hardware Pack

This Accessory Mounting Bar is specifically designed to fit the Versa Top Triple Track accessory rail. 

ITEMS INCLUDED

For E-Z-GO TXT/RXV, slide 1 carriage head bolt 
down each Triple Track Rail as shown to desired 
mounting location. 

Note: If you choose to mount the Accessory 
Bar in between front and rear struts of Club Car 
Precedent or Yamaha Drive, you will need to 
temporarily disconnect the mounting bracket from 
strut to slide the carriage bolt to desired location. 

Versa Triple Track Accessory Mounting Bar
Installation Instructions

*Tops Sold Separately*

Part #: 03-157

13mm Socket or Wrench

B)

2 - M8 x 25mm Carriage Head Bolts
2 - M8 Flat Washers
2 - M8 Lock Washers
2 - M8 Nuts

STEP 1

Using supplied flat washers, lock washers, and nuts 
secure the Accessory Bar to the Triple Track as 
shown. 

13mm Socket or Wrench

B)

STEP 2



INSTALLATION COMPLETE

The Accessory Bar has multiple slots for mounting 
items such as Mirrors, Light Bars, & Sound Bars. Use 
the hardware supplied with your accessory to attach  
to the Accessory Bar. 

STEP 3

E-Z-GO®, TXT®, RXV® and S4® are registered trademarks of Textron Innovations, Inc. Club Car®, Precedent®, DS®, Onward® and Tempo® are registered trademarks of Ingersoll 
Rand, Inc. Yamaha®, Yamaha® Drive®, Drive2®, G-14®, G-16®, G-19®, G-22® and G-29® are registered trademarks of Yamaha Golf-Car Company. Any reference to Club Car®, E-Z-
GO®, or Yamaha® or their associated trademarks, word marks, and products are only for purposes of identifying golf carts with which this Madjax product is compatible. Madjax 
products are aftermarket parts and are not original equipment parts. Madjax is not connected to, affiliated with, sponsored by, or endorsed by either Textron Innovations, Inc., 
Ingersoll Rand, Inc., Yamaha Golf Cart Company, or any of their parent or subsidiary companies.


